il

g
=
s
i

1. ¥¥4
¥4 50 6 AR Y & A HERD I B A S
JEATST WL NEBRATE N

2. EBEAR
1) FEF4 V) AT M A AR
244 H M H 4&f1 64£10A30H

2) JE1THIR
£ o TH 6H30H

3) &FEtHM
BE TEERRILR) D LBY

4) EBNE
AFEBIT, T B — AR L M LRTRHLC I 1T 2 HERPR DL ONERD

HEER LY LAEEOEMEEEI T2 b0 TH D,

E+sZi@E SN



FEH N

%lljll
I

EHA | B 6 FETEM S AHERDHI AR ER i W=
HH FHE
THH - T - R B fif ¥ o& & % MR N R
<P = 1 277, 200
F A ! 217, 200
R = 1 277,200 | FHEiEf
1 =N
Bk A F2V 1 358,918
B ik =X 1 358, 918
kA E2V 1 358,918 | HiHhkdr
1 =
Jos = = 1 4,698, 785
< )LF ' — LRI = 1 4, 698, 785
< LT B — NI = 1 4,698,785 | ~ /LT B — LJAE
1 A
< )VF B — LREORREE = 1 1, 458, 955
< LT B — AR OREE = 1 1, 458, 955
< LT B — AHREDFREE = 1 1,458,955 | HERbEF R
1 =
H-VAERK
1 =
BT ERK
1 =
SRR R = 1 854, 967
SRR B = 1 854, 967

-1- E+sZi@E SN



= N R
H FIR =
EHA | B 6 FETEM S AHERDHI AR e W=
H H SRR
THH - T - fER] A7 £ & KA B AR
SRR = 854, 967 | SiFRINIE:
1 =
W EER =X 701, 190
s ER =Y 701, 190
R = 701,190 | HEEAERL
1 =X
EiS T 52V 193, 200
3w = 193, 200
[rowe = 193,200 | ¥I&¢
1 oM
[EReS S~ = 115, 028
R = 115, 028
P i =y = 24,028 | kg (SFEE - BmAE)
1 =
B R e #: 91,000 | ERCRAIERE
1 =
EEH R = 8,658, 243
R = 5,811, 757
RORRE = 5,811, 757
P EZERS M = 14, 470, 000
-2 - E+2mE SN )R



